Previous Page

| Main Menu

Built-In  Series Menu |

Next Page |

Part Lists & Exploded Views

Built-In (BI) Series [svs-zercy

1 7006997
7007044
7006999
6201890
6220220
7007048
7007831
7007832
7002740
7009940
7011188
7011189
7009435
7007065
7007851
7007853
7007854
7007846
7007888
7005046
7009560
7007843
7007856
7007839
7012008
7012007
7007833
7007852

Bl-36F FREEZER INTERIOR PARTS LIST

Description

Light Assy, Dual w/T Dom Svce
Lampholder, Angle Dom Svce
Lamp, Blue Glass Svce

Screw, #8-15X3/8 6 Lobe Tr Hd
Screw, Grommet 1/32X3/8 Sq
Bracket, Light Diffuser Svce
Shelf Ladder, Fre LH Svce
Shelf Ladder, Fre RH Svce
Icemaker Assy, Svce

Rod, Connector

Bracket, Icemaker Svce

Arm, Icemaker Svce

Heater, Fill Tube Svce

Handle Assy, Drawer Svce
Slide, Basket LH Svce

Slide, Drawer LH Svce

Slide, Drawer RH Svce

Shelf, Fre Svce

Switch, Defrost Terminator Svce
Grommet, Motor Fan

Fan Blade, Black Svce

Heater, Defrost Svce

Basket Assy, Lower Svce

Fan Assy, Evap Svce

Bracket, Evaporator Fan SVCE
Motor, Evap Fan SVCE

Duct, Air Fre Upper Svce

Slide, Basket RH Svce

#7005334 - Revision C - June, 2010

Previous Page

Main Menu

Ref # Part #
28 7007855
29 7007044
30 7007849
31 7011244
32 7007837
33 6201980
34 7003167
35 7011243
36 7007835
37 7007848
38 7007019
39 7007842
40 7005253
41 7007030
42 7011245
43 7011246
44 4204740
45 7007857
46 7004169
47 7003718
48 6201920
49 6201930
50 6220610
51 7006232
52 7005981
53 7014262
54 7014262
55 7004215

20

Built-In Series Menu

Description

Basket Assy, Ice Bin Svce
Lampholder, Angle Dom Svce
Shelf, Fre Fixed Svce

Tube, Fill Svce

Duct, Air Fre Lower Svce

Screw, #8-15X 2-3/4 6-Lobe PH
Standoff, Fixed Shelf Ref

Bin, lce Svce

Duct, Air Middle Svce

Diffuser Assy, Glass Svce

Light Assy, Dual w/o T Dom Svce
Block,Evap Foam Svce (incl, LH & RH)
Clip, Defrost Heater

Bracket, Thermistor Svce

Cover, Fre RH Svce

Cover, Fre LH Svce

Therm Assy, Svce

Panel, CL 36F Svce

Screw, #8-18X1/2, 6 Lobe Fill Hd
Standoff, nylon 1.625”

Screw, 8-15X2 6-Lobe PH
Screw, 8-18 X 5/8 6-Lobe PH
Standoff, 1.062

Screw, #8-15X1-3/4, 6 Lobe Pan
Screw, #8-32X1/2, 6 Lobe T/C
Screw, #8-32X3/4, 6 Lobe Trhd
Screw, #8-32X3/4, 6 Lobe Trhd
Standoff, Nylon 2.06”

Next Page




Next Page

Built-In  Series Menu |

Main Menu
sus-zeroy BUilt-In (BI) Series

Previous Page

Part Lists & Exploded Views

®

BI-36F FREEZER INTERIOR VIEW

\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\

Q\v@i
, /
’ v i
/ /

/

21

#7005334 - Revision C - June, 2010

Built-In  Series Menu | Next Page

Main Menu

Previous Page




	next page: 
	main: 
	Previous1: 
	Built-In Series: 
	8: 
	9: 
	11: 
	7: 
	6: 
	10: 
	14: 
	17: 
	20: 
	21: 
	23: 
	27: 
	1m: 
	1ma: 
	1mb: 
	12: 
	18: 
	26: 
	32: 
	35: 
	36: 
	29: 
	28: 
	30: 
	38: 
	34: 
	33: 
	31: 
	37: 
	41: 
	43: 
	42: 
	25: 
	24: 
	4: 
	3: 
	5: 
	13: 
	15: 
	16: 
	19: 
	22: 
	2: 
	44: 
	39: 
	45: 
	40: 
	46: 
	48: 
	49: 
	47: 
	50: 
	51: 
	52: 
	53: 
	54: 
	55: 


